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The inflation rate in Taiwan 1s 10%, and the inflation in US is 5%.
According to the purchasing power parity, the NTD/USD exchange rate
(number of NT dollars per US dollar) should

A. rise by 5%.

B. fall by 5%.

C. rise by 15%.

D. fall by 15%.

There are two countries: Home and Foreign. Each country can produce two
goods: cloth and wine. Labor is the only input. Home needs 20 hours of
labor to produce one unit of cloth and 15 hours to produce one unit of wine.
Foreign needs 10 hours to produce one unit of cloth and 10 hours to produce
one unit of wine. A comparison between the two countries suggests that

A. Home has the comparative advantage of producing cloth.

Home has the comparative advantage of producing wine.
Foreign has the comparative advantage of producing wine.

o 0w

Foreign has the comparative advantage of producing both cloth and

Wwine.

Suppose the fast food industry 1s perfectly competitive. Suppose Johnny is a
firm producing fast food. The average cost of Johnny is $40, and the price
of Johnny’s product is $60. Which of the following is correct?

A. Johnny has some market power.
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B. The fast food industry has reached a long-run equilibrium.

C. Johnny is not maximizing its profit.
D. The marginal cost of Johnny is $60.

4. If there is a surplus of loanable funds, then

A. the quantity of loanable funds demanded is greater than the quantity of
loanable funds supplied and the interest rate is above equilibrium.

B. the quantity of loanable funds demanded is greater than the quantity of
loanable funds supplied and the interest rate is below equilibrium.

C. the quantity of loanable funds supplied is greater than the quantity of
loanable funds demanded and the interest rate is above equilibrium.

D. the quantity of loanable funds supplied is greater than the quantity of
loanable funds demanded and the interest rate is below equilibrium.

J>.  Suppose that drinking creates a negative externality. If the government does
not interfere in the wine market, then

A. the equilibrium quantity of wine drunk will equal the socially optimal
quantity of wine drunk.

B. the equilibrium quantity of wine drunk will be greater than the socially
optimal quantity of wine drunk.

C. the equilibrium quantity of wine drunk will be less than the socially
optimal quantity of wine drunk.

D. There 1s not enough information to answer the question.

6. You are offered a free ticket to see Singer A's concert. Assume the ticket has

no resale value. Singer B 1s performing on the same night, and his concert is
your next-best alternative activity. Tickets to see Singer B cost $40. On any
given day, you would be willing to pay up to $50 to see and hear Singer B
perform. Assume there are no other costs of seeing either event. Based on
this information, at a minimum, how much would you have to value seeing

Singer A to accept the ticket and go to the concert?

A. $0
B. $10
C. $40

D. $50
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